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5. a ) 32" =
2% b) 1×4"= × "

"

6 . 1g 0 . 1 , 1g0.99, 1g 1 , Iglo, 1 .0 1

7 . 60000 . 1.02T = 7 3 1 4 0

T
a l 1g800 = Igstlglor =

-

b) 1g0 . 7 5 = 1g3 - 1g 4 =a
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= 0.48-0.60 = - 0 . 1 L



9. Försäljning = 2 0 N 0 N

Lönekos tnader = 6 0 0 0 N

Rän t a på l å n = 2 0 0 N

R e s u l t a t = 1 2 0 0 0 0-
10. Exponenten = 1g 3 7 =

-

H.a1X=lÜ

"

b1x=±k4"4

"

44x=¥jH
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1 2 . 1 0 0 0 0 .
(I-1×715=14272

x-et.42725-0.FI

" -
a ) pH) = 1 2 5 0 0 N .
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b) 1 2 50000 . 1.08T= 2 0 0 0 0 0 0

t = Y Y É

" "

1g 1.08



14.
1g Ivö = Igloo+ Igloo = 2 + 2 = 4

1gC-tout = 1g 1002= 4

jsi.io" ⇒

E - to"

× = ± (lök= ± t o o- 1
Lgab = b . Iglat o m b ä r e t t jämnt t a l .


